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In case of diacrcpancy between the English and Hindi versions of any question, the
Hiadi version will be treated as final,
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Choose and write the correct option :
5]

(i)

(i)

(iii)

(iv)

v)

(vi)

The maximum number of mdﬂbers in a partnership firm must be -

(1) 100 o (b) 50
(€) 200 g () 75
Super Profit is -

(a)  Abnormal profit m

(b)  Normal Profit 1‘2

(¢) Contingent Profit E

(d)  Excess ol average profitcaver expected profit
Partnership business operates as per provisions of -
(a) Indian Partnership Acl,l"lm'l)m

(b) Indian Partnership Act, :11"!}32

(¢) Company Act, 1956 g

(d) Indian Partnership Act.gﬂi‘.l

At the time of dissolution undistributed profit and reserve are
transferreed to - ™

(a) Capital Alc LL?-} (b) Bank A/c

(c) Partners' Capital Ale g (d) Profit / Loss Alc

An example of cash fow rrq?; operating activities is -

(a) Issue of debentures -

(b) Sale of fixed assets ™

(¢) Interest paid by bank mﬁi}:m\ deposits

(d) Issue of shares q

When shares are forfeited n&dehlled
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Fill in the blanks :

05804

(i) In the absence of a partnership deed the distribution of profit/loss
between partners is done in thecw ratio.
u
(i) Companyisan_______ person fc?pa,tcd by Law.
O
(iif) Current liabilities are settled within —_ month.
o
(iv) The debentures which can not be redeemed durmg the hfe of the

Company are ca]led. — debentures.
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(iv) mﬁmaﬁﬁmﬁ%gﬁrﬂmﬁfﬂ‘ﬂﬁﬁmmﬁmh
(v) =R frs aw wwRE e g
(vi) wwwm@wmh
Write True / False : q‘
(i) Each partner must have "éhpacity to contract.
(1)) Goodwill is a saleble assﬁts
(iii) Cash management is not cash flow.
(iv) Equity sharcholders have“{he right to vote on all matters of
| the Company. ﬂ
(v) Trade marks are treated -as current assets.

Qi :
(vi) High operating ratio is considered always better.
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Match the correct columns :

(1) Transfer thmugh delivery m (1) Permanent
un
(ii) The assets are shown in g (2) Is shown in reserve and
Realisation A/c E surplus heading
(o)
(iii) A company has a perpetual (3) Bearer debentures
(iv) Applications received in 5_} (4) At book values
excess of issued shares ﬂ
o
(v) In absence of partnership dee@ﬁ (5) Over subscription
. = '
(vi) Return of debentures (6) No interest paid on capital
(vii) Securities premium reserve $ (7)' Interest
(Tg)
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Write answer in one word/sentence :

(1)  When are partners' current accounts prepared?
X i)
(i) When a new partner brings premium in cash to whom is it

distributed and in which mtio?;

n
(iii) To whom is the payment of mé,--ﬂcceascd partners share made?

i ) ’
(iv) Which accounting standard is issued by Institute of Chartered

Accountants of India for cash glr?w statement?
(v) What type of receipts is the pr:fﬁnium received on share?
(vi) What does accounting ratio sig@_’y?

]
(vii) What is the basis of valuation jof goodwill?
=

|EE % @3 3 wau fafaa) m

Write any two features of Partnershigr?
sqar / QR
I

el gug o491 &7 o

What do you meant by Partnership deed?
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n
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Amayra and Anaya are partners shanng—profits in the ratm of3: 2 'Ihey

adrmt Aman as a new. parlner for Uﬂ‘ Share i lhe e

2
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Golu and Dheeru are partners in a firm sharing profits in ratio of 5 £3.

They admit Sarvesh as a new partner for 1/7 share in the profit. Trhqc

new profit sharing ratio will be 4 :2 :1. Calculate the sacrificing ratio
i

of Golu and Dheeru. g

o

oo

3 _ )
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Write the meaning of Goodwill.

M
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TH WERH WA @ geT fbT sReil 4 e 27 fifaw @E @)

. e i v2)
Write the casuses of reconstitution of a partnership firm. (any two),
O

w,_ﬁﬁﬁeﬁrﬁa}rhS:S:Z'%mgqmﬁ'ﬁm%rﬁaiz%mﬁmﬁ
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Shubham, Shivani and Saloni are partners in a firm sharing profit and

losses in the ratio of 5:3:2. Saloni retires from the firm. Shubham
and shivani decided to share future profit and losses in the ratio of 2 ; ].
Calculate their gaining ratio. o S

-y
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Write any two conditions of cfi}i}nlutinn on contingency of a firm.

=

sea / OR
_ _ 0 _
mﬁ%-ﬁmaﬁtwﬁmﬁ%ﬁg@ﬂ‘aﬂiﬁﬂmm:
Write any two differences bem;een Dissolution of firm and Dissolution
of partnership. :_:.:
Ty
_ o
FHA Sisth A B A g fefag 2
Write any two characteristics u:f: Equity shares. '
a9 / OR

i A B wer £7

i
What is meant by 'Calls in qul?:ance‘?

L *h)

o0
sﬁwmaﬁ'miﬂwﬁﬁti 2
What do you meant by Zero Coupon Rate debentures.

i 1 OR
G T B o e

Write the meaning of ‘Secured_ debenture’,
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([) EINTF{E 3g T 40,000 )
. - i

@) @i $h T 7,20,000 v
-

(3) =« =M= T 2,40,000 o
o

Calculate Current Ratio from the following infsﬁ}mnlion :
(1) Trade payables T 40,000

(2) Working Capital ¥ 7,20,000 f?]

(3) Current Liabilities Z 2,40,000 -

(&

s / OR (S0

1£)

T@HT HIIT Bl B3 & GEE fafg) ©

Write any two limitations” of Accounting Ratio,

Ty

, Ty

: : L o

15 fadirg foramalt & @1 wwe &7 C 2

60

What is meant by Financing activities? ::g
st / OR

Y

When does investment become cash equivalents?

@l . "'
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L

Gupta Limited issued 10,000, 12% debentures of T 100 each payable
T 30 on application and remanining amount on allotment. The public

b

applied lor 9000 debentures which wert:f}ully allotted and all the relevant
ot

allotment money was duly received. Give journal entries in the book

J
of Gupta Ltd. E"l

©
s / OR

aiﬂmrhaﬂiwwﬁﬂ'ﬂ%ﬁ%ﬁwaiwml

Write any three differences between Slﬂrehalder and Debentureholder.

©
18 Pretifea qer shiw ¥ we-aw @ W R o ¥ o @ D) 3
(1) sigrenfRal & g 2
(2) W fae 3;
(3) g e 0
Which items are shown under the fdghwing- main heads : (any two)
(1) Shareholder's funds m : : ‘ : '

(2) Non-current liabilities
(3) Current liabilities

1



19

20

mﬁf.%zoaoomaﬁg}s}znzw&:w 10% siftrm qT @iy
mﬁ%@'mﬁﬂ?qﬂﬂﬁﬁmﬁgj#{vfﬁhﬂﬁﬁﬂﬂﬂtﬂlmﬁﬁﬁ%
g smdes w3 e g A% wa ufaftear #ifsm
Pramod Ltd. invited applications for issuing 20000 equity shares of T 20
each at a premium of 10%. The full amount was payable on application.
The issue was fully subscribed, Pass neccessary Jjournal entries,

e / OR
Sisit & T H wwE i g
Write effects of forfeiture ug;shares.

o
H Ud ATET W T F0 @7 feprer 2 - ST | HId &l I | T,
2016 @t &t W ¥ S @Y 1410 Wi @7 MR @ : AT 37 F9 q B
25,000 ?maﬁm@%ﬁr%ﬂ%‘gﬂaqﬁm AT AT S9N Ydaq & Tad
B, WG I B M & R A @ B om0 w312 o &
wmwmémﬁuﬁg}ﬂmwn fawiaz, 2016 = v =
1,20.000 ¥ < 9T FHer ¥ 1 $6b fre a—arf P @ dae I |
Sanjeev and Nahar share prorffi]ts and losses in the ratio of 2 : 1. From
January 1%, 2016, they admitJain into their firm who is to be given
a share of 1/10 of the profits yvith a guaranteed minimum of 25,000,
Sanjeev and Nahar continue 16’ share profits as before but agree to bear
any deficiency on account o guarantee to Jain in the ratio of 3:2
respectively. The profit of tHe firm for the year ending December 31,
2016 amounted to T 1,20,00% Prepare Profit and Loss Appropriation

-Acq:ount_. ol S — = v
: K] -
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EL| Y g

o

2011 T 75,000 %

2012 T 95,000 o
2013 T 20,000 (z1f9)

"

2014 T 70.000 13!

Ty

2015 T 80,000 qn

Y AGET B AT F 3 aﬂ%mmwma&maﬁﬁﬂm
foraat wiee &1 |§Erg 2T 10% & E o
The books of a business showed that the firm's capital employed on

December 31, 2015 ¥ 5,00,000 and t]Le] profit for the last five years
were ':

5

h
Years Profit g
2011 % 75.000 4
2012 % 95,000 |
2013 Z 20,000 (Loss) fﬁ
2014 T 70,000 Q
2015 T 80,000 g

You are requxred to find out the valué%f goodwill based on 3 years'
purchase of the super profit of the busmess Given that the normal rate
of return is 10%.
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22 o, w9 T oum e A 3 201 % s ¥ wr-giy F fme a4
T wEER ¥ 31 W, zu:sﬁmﬁ#maﬁmﬁmﬁﬂ*

fr 31-03-2015
A i R) [ i (%)
5 it 5,000 | e 10,000
& fam 7,000 | Far 20,000
REEd :?}unu ®iE 20,000
oot un TUERT 20,000
ary ﬁouo 3 10,000
et 20,000
hr 10,000
80,000 80,000

31 51, 2015 ﬁ?ﬁrﬂsﬁﬁﬁq‘ﬁ@ﬁﬁﬁ!ﬁamﬁ ﬁs’lﬂ’rtl
(1) =9 =1 qegieq IMWmmm 15% =9 &)
(2) TR 9T 5% T a 3 mﬁmmm%i
(3) el Uy 5_%m.wqa:ﬁrmam=rmtl
TS @ A Hfng
Abhi, SnmyaandRauampargnmmaﬁmmthcmno of=3=31
Their Balance Sheet on 315t March 2015 is as under :
Bnlnm:e Shut.@s on 31-03-2015
Liabilities  Tamouht ® [ Assets [ Amomt @
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"
Rati retires on 31% ﬁarch. 2015 on the following terms.

e |

(i) Reduce the value of machine by 10% and stock by 15%.

L

-
(ii) Create a provision for bad debts reserve on debtors 5%.
{v) .
(i1i) Create a prnvisép;n for discount reserve on creditors 5%.
l.,'JI
Prepare Revaluation Account.
M)

£

sgqar / OR

Wmﬁzﬁwﬁﬁi;ﬁa@m%ﬁqﬁfaﬁqﬁﬂuﬁﬁw:
)
Write the clrcumstances for retirement of a partner in an existing

A
partnership firm, :':’
)
v
i)
yaifas 39 & W FHAE| 4
ICJ"
)

Discuss the kinds of Preference shares.




Jaiswal Ltd, forfeited 30 shares of ¥ 10 each fully called up held by

a shareholder for non-payment of allotment money ¥ 4 per share and

final call of Z 3 per share. He hast' paid the application money of

Z 3 per share. These share were re[ss.‘.ued to Goldi for its face value

Z 10 each. Give Journal entries for thé‘ forfeiture and. reissue of shares.
"
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